i

Congider the following statements

A. Nuclear fuel is material used in nuclear
pummunmtnpmdunhutmnm

turbines.
B. Thorium is used ns o nuclear fuel in India.
Which of the above statements is/are correct 7
(1) Neither A nor B
(2) B only
(3) BothAand B
(4) Aonly

8. Consider the following :

16:0422.-T

A. Gaganyaan : ISRO plans seven-day space
tour with three gaganauts in 2023 for
science and technology advancement.

B, Vyommitra : A humanoid robot sent along
with gaganauts to manage the
environmental information.

Which of the above is/are mm-?
(1) Neither A nor B

(2) B only

(3) Both A and B.

(4) Aonly

A, BOD s oxgen consumed by
micro-organisms and is an index of water
pollution.

B. Drinking water should have BOD level of
1to 2 ppm.

Which of the above statements is/are correct 7
(1) Neither A nor B
{2) B only

{(3) Both A and B

10,

11.

(4) A only

Download Adda247 APP

Consider the following statements |
A. Optimal usage of inorganic fertilizers and

pesticiden incroases €rop production. S
B, Pesticides are toxic to  non-

isms.
C. m fertilizer residue loaded water

inflow londs to eutrophication of |nkes. 1.

D. Biomagnification of harmful chemica
a threat to human health. :

Which of the above statements are correct |

(1) A, B, Cand D

(2) A, C and D only

(3) A, Band D only

(4) A, Band C only

Consider the following statements :

A Circadian rhythm is endogenous rhythmie

change in organism with a periodicity of
24 hours,

B. Biological clock regulates circadian
rhythm.

(. Sleep and awake phases of humans are
due to circadian rhythm.

D. Heart-beat of humans is an example of
circadian rhythm.

Which of the above statements are correct 7
(1) A, B and C only
(2) A, Cand D only
{3) B, Cand D only
(4) A, Band D only

Match the following with the corresponding

nanomaterial used in it

A. Sunscreen lotion | Nano silver

B. Textiles 1. Quantum dots
C. Optoelectronics L Titanium oxide
D. High-definition IV. Zinc selenide

television
V. Lithium oxide
Choose the correct answer ;
(1) A-l; B-IV; C-III: D-N1
(2) A-IV; B-II; C-11I; D-v
(3) A-11; B-1I1; C-IV; D-V
(4) A-IIL; B-1; C-I1; DIV



16-0422.T

Match the following UN specinlised agencies

with their headguarters .
Agency Headquarter

A FAO . New York
B. UNIDO 11, Geneva
C. 1o 111, Rome
D. UNESCO IV. Paris

Y. Vienna
Choose the correct answer :

(1) A-IIL; B-V; C1L DIV
(2) All; BL C-IV; DV
(3) A-V; BIV, C-I, D-lI
4) AIV; B CIn; D

2. The following was the major confrofitation |

that brought the United States and the Soviet
Union close to war ;

(1) Angolan Civil War

(2} Suez Canal Crisis

(8) Cuban Missile Crisis

i4) Congo Cnsis

Which of the follawing pairs are matched
fructiy?
im .
& Secretariat

B. SAARC
Secretarint

€. European Ugion
(EL)

D. African Union  :  Addis Ababa,
MU]' W

Choose the correct answer :

(1) A and B only
(2) A,B,Cand D
(3) B, C and D only
(4) A, B and C only

Kathmandu, Nepal

Brussels, Belgium

Download Adda247 APP

(3]

Connider the

to the Tibetan AU .
A When Chino announced that it would be

| ' dis sent a letter of
secupying Tibet, India _
Pm:“ proposing negotiations on the Tibet

[TETITES
B. In 1864, China and Indin concluded the

' ' ‘oexistence,
Five Principles of Peaceful Coex
under which India acknowledged Chinese

rule in Tibet )
Which of the above statements is/are correct

(1) Neither A nor B
(2) Bonly

{3) Both Aand B
(4) A only

Consider the following statements in relation

to the G-20 ;

A The G-20 was founded in 1999 as a forum
for the Finance Ministers and Central
Bank Governors.

B. The G-20 was upgraded to the level of
Heads of State/Government in 2010.

C. The expanded agenda of G-20 includes
trade. sustminable development, health,
agriculture, energy, environment, climate
change and anti-<corruption,

Which of the above statements are correct ”

(1) A and C only

(2) A, B and C

(3) B and C oniy

4y Aand B only

events in the chronological order :

A Normandy Campaign in Western France

C. The American atomic bombing of
I"H.I'Cﬂhi.ﬂ:l._.nd Nagasaki

D. Japan's sttack on Pearl Harbo

E. The Battie of Stalingred

Choose the correct order ;
(1) B,D,E.AC 2) AD.C.E B
(3 E.B,D.AC 4 D,C.AE B



13.  Match the following -
K ! I8, Clonalder Lhe fulliowing paies

Emerging Trend Example :

A Humanoid based L. Virtua) Reality ¢ ::l::::::ﬂ i —
by wﬂl:ial B, Cutalytic sonverter: Carban mnnoide
Intelligence (A]) ! and nitrogen oxides

B. Natura) language Il Drone L. Tarror of Bengal Water hywcinth
Processing iEichhorria

C. Unmanned aircraft 111, Toxt-to-Spoech . gt
D. O ing V. TeSERR e ). Biochamical : Polluted water
oxygen demand
houschold devices Things (BOD)
using smartphone Identify the correctly matehed pairs :
: V. Sophia (1) A, B, Cand D
Choose the correct Answer : (2) A and C only
(1) A-Il; B-IV; C-V; D111 {3) A, C and D only
2) A.Il; B-III; C-V: D-1 {(4) Aand B only
(3) A-V; B-IIL C-IT; DIV 18. Consider the following statements
(4) A-V; B-IV; C-I; D-II ' A. National Technology Day in

commemorated on May 11 every year as

14. Consider the foll ] India successfully conducted nuclear tests

_ in Pokhran.
A. Fatherof Green  : M.S. Viswanathan B. Agni-lll is India’s latest long range
. ‘ . surface-to-surface nuclear capable ballistic
Revoiution - _ missile  system that  was successfully
B. Missile Man of India : A P.J. Abdul tested in 2018,
i Kalam €. Mangalysan  was |~ launched  on
. e y 5" November, 2013 with the aim of °
% First Indian to go to : Suni nms !
G'; v & e “ m studying the Moon's topography,
outer space - - morphology, mineralogy and atmosphere.
D. First Indian remote : APPLE D. UR. Rao was the Chairman of the Indian
sensing satellite Space Research Organisation when the
y first-ever Indian satellite Aryabhata was
Identify the wrongly matched pairs ; ; launched,
(1) B, Cand D Identify the wrong statements
(2) A, CandD (1) A, Band D
(2) Band C
(3) A,Band € (3) A,Cand D
(4) A, Band D (4) Aand D
1G-0422.-T (7
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17, Integrated chip s produced on o ploce of
semi-conductor erystal by the process of
1 Cryptography (@) Fhotolithography
() Tomography (4) Embedding
18, Dieback disease in neem treo is enused by
(1) Algae (2) Virus
(3 Fungi ) Iron deficiency
19.  The temperature in human body is controlled
by
(1) Muscles (2) Skin
(3) Cerebellum (4) Hypothalamus
20. The chemical used in airbags of vehicles that
releases nitrogen to explode balloons in case of
accidents is
1) Potassium nitrate
12) Sodium nitrite
(3) Silver nitrate
(4) Sodium azide
21. Akash missile is developed and produced by
(1) Russia and DERL
(2) NFC and BARC
(3) ISRO and DERL
14 DRDO and BDL
92, Match the Nobel Prize awardees and their
work for 2022 ;
A Ales Bialiatski ~ : Nanomaterials and
their applications
B. Svante Paabo ﬂﬂ“”m of extinct
' "J.L i hmwuhrﬁm
C. Alain Aspect, John Photons in
F Clauser and Quantum
Anton Zeilinger entanglement,
information science
and cryptography
D. Carolyn R. Bertozzi : auekmmmmd
Morten Meldal, &
K Barry Sharpless M 41
Choose the correct Pm}
(1) B, C and D only ¥
(2) I only ot
(%) A, Band C only [y
(4) A only '
1G:0422.-7
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(9)

The sequencs of geoligieal somposition from
the dopth o the surface of the Earth s

(1) Inner core -» Ouler eore -» Mantle -
Crust

(2) Mantle -+ Crust —» [nner core —» Cuter
Earn

(3) Onter core -+ Inner eore -+ Crust -»
Mantle

(4) Crust -» Mantle -» Inner core -» { Juter
COre

Match the following

A. Malaria . Plasmodiaom

B. Elephantiasis 1. Filaria

C. Typhoid 11 Clestridium

D. Tetanus V. Wuchereria

V. Salmonella
Choose the correct answer :

(1) A-L: B-IV; C-V; DAl

(2) A-I: B-III; C-V; DIV

(3) A-I: B-IV; C-11I; D-1I

(4) A-I: B-1I; C-ITI; D-V

Match the following :

A Calciferol I. Ber beri

B. Thiamine II. Rickets

C. Cyanocobalamine 1II. Seurvy

D. Ascorbic acid IV. Pernicious

anemia

V. Goitre

Choose the correct answer :

(1)-A-N;- B-111; C-1. D-IV.

(2) A-II: B-IV; C-11I; D-V

(3) A-IV; B-1; C-111; D-I1

(4) A-11; B-1; C-1IV; D-IlI

Arrange the following in order with respec
the urine formation in human beings :

A. Formation of concentrated urine

B. Tubular reabsorption
C. Glomerular filtration
D, Tubular secretion
Choose the correct order :
(1) AADBC

(3) B,ADC

@ C,B,D.A
(4) A,C,B,D



Industrial uﬂ'l'lﬁl' n' m.'l related 1o Cammiadnr the fullw ing pairs
in Indin A PM-MITHA Helated
Hehome L R ]
rm of doveloping industrial corridors B Udyami Bhaest  © Helated o MEMEs
partnership with State Go i
lndm.lnvutun.m R G RAMEF Siummp, @m““
B. mm‘ of this proy manufscturing
LT Greeafiolgi D. Phase-Il of FAME © Related t giving
”'I'H_ .-h-'.. nodes i India push to slectric
infrastructure and inmui“.m and play vehicles in publie
infrastructure at the ot level, transport
(1) Hnithlrﬂ.nw.n (1) A only
(2) Aonly _. A (2) A, C and D only
R 0 T
(4) B only 3 ki ) -

bigger States, whose population densities
wore the highest as per the Census of India

2011, in descending order ;

A. Bihar B. Kerala
. Haryana D. Uttar Pradesh
. West Bengal
the correct order :
(2) BE,.C.D.A

4) D,AB,C.E

(1) AL BIV; CIL DI
(@ AL B CIV;
| @ AW Bgcnn

(4) AL BAIIL O DAV
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32. Arrange the following programmes/schemes in
basid

33.  Arrange the following States in ascending
order based on amount of subsidy (in T crores)
released to these States by the Central
Government in the year 2021 - 22 under
North East Industrial and Investment
Promotion Policy — 2007 ;

A. Arunachal Pradesh

B. Mampur

. Meghnalaya

D. Mizoram

("hoose the correct answer from the following :
(1) B, D, C, A |

2) A, D, B, C

3) C,B,A,D

(1) D,A,C, B 4

94, .-\narigeinmmﬂm.fww
rate ‘ilﬂmmpﬂ“&hmml_ﬂ
for Natibnal M&m!m Z-digit
'-'Hh'[.'lll‘}"-i_i_ k Ll i}

" |
B. Man
produ
C. Manuf
products :
D Manufacture of electrical equipment
Choose the correct answer from the following :
(1) A,B,D,C '
2) B,C,D, A ls
i3) D,C,A,B - gl
i4) C.A.B.D el N
8
16-0422.-T 1L

chronological order 2

launching/implementation %
Year of e

programmes/schemes - o

A. Pradhnn Mantri Awas Yojana (Urban)
B. PM Street Vendor's AtmaNirbhar Nidhi

C. Deendayal Antvodava Y. .
Rural Livelihood B-BI: Yojana - National

D). Pradhan Mantri Jan Dhan Yojana
Choose the correct answer from the following ;
(N ADCB 2) C.D.A B

(3) D,C,B, A 4 ACD B

Download Adda247 APP

(13)

a17.

To increase the availability and reduce cost of
fertilisors, the Central Cvernment
introduced ‘One Nation, One Fertiliser’ under
(1) ‘Samaikya Bharat' brand name

(2} Vishala Bharat' brand name

{4) ‘Ekta Bharat' brand name

(4) ‘Bharat’ brand pame

As per the annual report of NITI Aayog
2021 - 22, which of the following 18 nol a
domain of State Health Index of NITI Aayog 7
(1) Key inputs/processes

(2} Governance and information

(1) Best practices

(4) Health outcomes

Which of the following statements related to
Soil Health Card Scheme of the Central

Government are true 7

A. This scheme was introduced n the year
2014 - 15.

B. In Cyclesl of this scheme, around
1074 crore cards have been issued lo
farmers.

C. In Cycle-ll of this scheme, around
1247 crore cards have been issued to
farmers.

Under Model Village Programme, around
4 erore cards have been issued to farmers.

Choose the correct answer from the following
1) A and D only

(2) Aand B only

(3) B, C and D only

(4) B and Conly

Which of the following are true in relation to

“Make in India’ initiative ?

A To facilitate investment

B, To foster innovation

C. To make India a hub for manufacturing,
design and innovation

D. To build best in class infrastructure

Choose the correct answer from the following :

(1) B, C and D only

(2) C and D only

(3) AB,Cand D

(4) A and B only

D.



B. Begum Aizaz Rasul
€. Hansn Jivra) Mohta
. mw
k. Renuka Ray . '

Chmwthlwriqm
(1) B, €, D and K only

(2) &Cuﬂ*ﬂw "
() B, 4

,.a

(4) A, B, D and E only
: B l"i # T-‘

41. Consider |
{muﬁﬂﬁ,

Download Adda247 APP

4 Consider the fillewing in relation o the

il
z

oumminting  of
wtanding, residing in the Htats
Which of the above satements ars arrees 7

(1) B and C anly
(2) A nnd B only
(3 A and C only
(4) A, Band C

43. Who smong the following shall nef be
anawerable 1o any court for the exerciss snd
perfarmance of powsrs and duties of thes
office ?

A President

B, Prime Minister

C. Law Minister

D, Governor of n State
Choose the correct answer -

L) A, B and D only

) Aand B only

#). A and D only

A, B and C only




b Constder the fallowi tements )
' “ tﬂd {' il
:"‘" WIth the proclamation of fig .“: p:::':;:: 0 with  their  reepective
n :)\m the ﬁf‘“’m*"“" of 3 dﬂu-h- Prevsision
mergency, et ean - Artiele- 18 1 Fresdom W manags
S R e
Which of the above statements Ware ’ B. Article-21 1L Prohibition of traffie in
(1) Neithor A nor B et Tl;:::hlinplndhud
(2) Bonly C. Article-23 111 Protection of certain
righta regarding freedom
(3 Both A and B | of b
(4) Aonly " D. Article-26 V. Protection agninst arrest
and detention in certain
6. The TSR Subramanian Committee (2014) is cases

V. Protection of life and

(1) Review the process, laws and acts of the| e
HOULT volopment | Choose the correct answer .
(1) AV: B-IL: C-1; DIN
iy (2) ALV BAIL O DA
Change Rt 18) A-V; BV, C-IL; DI
. T W) AL BV CIE D

() Dissolution of the Muslizn ._ thore is a challenge to the legality of
.‘-T" g tiﬂn

Which of the above statements is/are
(1) Neither A nor B

'y
¥ !




. 1nthﬂmntllltﬁlﬁlﬂﬂwnm
mateh the Follewing

Effect Conntry | Ragion
A Bush fires I Amarstios
B, Looust swarming 11 Aretie
. Heoal wave 11 Africa - Middle
Fant
D. Permalrost melt IV, Australis - USA
Choose the correct answaer |

(1) AITE; BV, COE DD
(2) AL, B-IV, C-111 DI
(3) A-lIL; B-IV; C-I; DT

= (4) AIV; B-1IL; C-L D-II

57, Arrange the following events in chronological
~ prder from earliest to latest .

| A Rio Earth Summit '

‘% ‘Sendai Framework for Action

\ MD Framework for Action
#Tnkuhuml Strategy

(2) B.C,D, A
4 ALB.C.D
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. The services of Healt
(HWCs) under muh;m-:l:h\:::mudﬂ:m.
A Care in pregnancy and childbirth
B Management of Communicable Disensen
C. Basic Oral Hoalth Care

D. Sereoning and  basic  mansgoment  of

mental health ailments
Choose the correct answer |
(1) B and C only
(2) A and B only
@ Aonly

4) A B,Cand D

{‘I‘EElil_mlinhhphmunwdbyﬂn y il
(1) Ministry dqf Ronds and  Buildings

] .
_____

" Trade Infrastructure for Export Scheme

88, Which of the following is nol mvate b
porrectly in relation W the your of enacting ?

(11 2012 : The National Food Securily Act

(21 20006 | The MUNILEG Act

(%) 2000 : The RTE Act

(4) 2000 ; The Right w Information Act

What are the objectives of the Development
Monitoring and Evaluntion Office (DOMEO) ?

A Dovelop centrulised depository of dats
informatics

Enable datasdriven policy making
[nstitutionnlising  rigorous tracking of
performance metrics

Serongthening  the whole ecosystem 1o

B.
o

mainstream TIgOrous outcome monitoring
and evaluation

Choose the correct answer :

L-.' ~ (1) B, Cand D only

~ (2) A,CandD only

(% BandDonly

4 A, Band Conly

of | 65, .mﬁ.irh of the following recommended for the

Record Offices as

by both
and

fablishment of the Public
an independent authority
ik ment of India

L

State

B o= "ranalyl




g1. ‘The following bar chart |

expenditure of o family me' monthly

five months for two ara
between  the mn:m What s the

) for
ritin

2021 and 2022 7 monthly wpending of

601
A
401

30 'u: " 29 a4 ! 1| J
201

10- ]

0 ].

(1) 34 :37 (2) 34 {39
(3) 32: 387 (4) 33:87

68. A watch loses 5 minutes every
set right il_t B AM m‘.w .
it show the correct time again
(1) 8 PMon Wednesdsy

(3) 8AM on Wednesday

'
o

74,

73.

Two statementa followed by four eonclusons
numbered 1, 11, 111 and IV are given bl rw
ftond the statements carefully and then deaide
which of the given eonclusions logrieally follows
the glven statemaents, disregarding  the
commonly known facts,

Statemoenis
No tiger is elephant.
All elephants are lions.

Conclusions :

1. Some lions are Ligers

I. All lions are tigers.

111. Some lions are elephants

V. Some lions are not elephants.

(1) Only conclusions I1, 111 and TV follow
(2) Only conclusions I, [T and IT1 follow
(3) Only conclusions [11 and IV follow
-_M} (nly conclusions | and 11 follow

The product of the ages of Ram and Shyam is

240). If twice the age of Shyam is more than
Rani’s age by 4 years, whatis Shyam's age 7
(in years’

(1) 44 (2) 20

3 24 14) 12

The following figure has been folded to make a
box. Choose the right box that can be formed
from the given figure.

2

511

& | &




76.

ABCDE
: D, E and F are places bolonging to|@l,  Find the pext term in the following saries |
m“ grvupa  or ml“' illiToront W 40 14:6. 1425 i, 7
A is not o hill station, 18 nod 1 are dig . oo
not historical places. D and ¥ are not (1) 6831 (%) st
industrial cities. A and D aro not historical () 6604 (4) 6247
places. A and B are alike, Which city in an
M“ﬂﬁﬂ ;l.i::a ;ﬂﬂ‘l hill station but not a{gg  What is the missing number in the following

e sories T
el 7.8, 20,7, 202, 1486
l!‘} F i4) B
(1) 689 i2) 66
What is the missing term in the following (1) 46 (4) 6O
— +DQER, FSGT 83, Identify the number which does nof fitin the
(2) CRGT following series :
(4) CPDQ | 5,12, 51, 811, 2497, 24961
(1) 24961 (2) 311

#‘%Whmphomphuthnmm gl (8 2497 (4) 51
P+ QukR=4 8=~ ond Tuol,

ST an the value of
QﬁRlﬁEEﬂFE‘ISﬁDTIEﬁ:
(2) 50

4) 46

"Eiﬂ’rcertmnmdtwm&twuﬂ

GEHET'iCB is cuded as HCQ&YCJK. What is
o .:. - o ~ the SAMe




N7.

Consider the following statoments of Kakntiyn
period

A. The usual way of ropresenting the people
in general during the i{lhti:-n pumpl.n
by mentioning them ns ‘Ashtadasaprajn’,

B. People of this period led a corporate life,

C. During Kakatiya period individunl eastos

organized their corporate associations

called ‘Samayachara’ to look after their
well-being.

The Brahmin villages were generally

formed into an  association  called

‘Asamkhyatulu’.

Which of the above statements are

correct ?

(1) Aand D

(2) Band C

(8) Cand D

Di

(4) Aand B

Which among the following was consid
the main occupation of Dependen
(Aasrita Kulalu) in Telangana ?
(1) Podu Cultivation _t
(2) Hunting

(3} . :'_ré'. {4k g

........

1
.....

not |ge.

W,

II A

.

Driring Kakntiyn poriod, three Acharyas were
popularly known as ‘Pandita-traya’. Identify
thom.

(1) Sripati Pandita, Palkuriki Somanatha and
Manchann Pandita

(2) Sripati Pandita, Mallikarjunas Pandits and
Manchana Pandita

(9) Visvesvara Pandita, Mallikarjuna Pandita
and Manchana Pandita

i4) Mallikarjuna Pandita, IFnlk.uﬂ'l:.i
Somanntha and Visvesvara Pandita

Consider the following pairs |

Churches Location in
Hyderabad
A. St. John's Church . Bolarum
b Holy Trinity Church Tirumalagiri
€. St. Mary's Church . Secunderabad
D. St. George's Church Abids
(hoose the correct pair
(1) Aand D
(2) B and C
(@) Cand D
(4) Aand B

During the Quth Shahi period, both the Hindu
and Muslim elite wore dresses consisting of
Kilah and Qaba. What do these two terms
mean 7

(1) Head-band and tie

(2) Trousers and belt

(3) Shirt and dhoti

(4) Cap and long coat

What was in | by the Zoroastrian Irani
immigrants in Hyderabad during the early
19th century ?

(1) Chai | .

(3) Khubani ka Meetha




ps.  Which of the following statements relited to |97, Connlder the following puirs in relation o
Rythu Bandhu Schome of Telangans State ineontives offered under Telangann Textiles
WS Sty Y : and Apparel Policy 2017 - 22
Ao In 2020 - 21 Telangann budgot, 60:4% of

agricultural budget was earmarked for Incantive Type Iy
Rythu Bandhu Sehoma, A. Capital subsidy Up o ¥ 40 crore
B. In 2020 - 21 Telangana budget, 77% of B, Interust subsidy i & per Annum
total budget was earmarked for Rythu for B years
i i C. Power subsidy t Uplo . 1D pav
C. Telangana government launched Rythu unit
' . Mﬂ Scheme in 20186, D. QGET © 100'% for T years
. In the year 2020, 80% of Rythu Bandhu ;
.H_. I__ .'-_ | : W ol gl reimbursemen
Mm Which of the above given pairs are correctly
Choose the correct answer ; matched ?
® Aﬂdw : (1) A, B, CandD
(2) B only
R 5 iy y (2) B and D only
4) Donly | . {8) AandDonly
- (41 A and C only
6.

gu._
|98, Arrange the following in ascending order
i g on the sectorwise TS-IPASS investment

.....

@eDBA
(2 B,ADC :

| @asep
A . Ifﬁ, ; :i:.‘;"'

e
g I1|l , =
i a T -
1
i - a
P - & d i
i lL | "'
|
] Lty
.
-
14 ) ’



As per the Transgender Persons (Protection of

Righta) Act, 2019, whe among the following

can issue the certificate of identity for »

transgeader person

(1) The ehected Sarpanch of the village or the
Chairperson in case of Municipality

(2) The Medical Superintendent of the area
hospital

(3) "The District Magistrate

(4) The Chief Medical Officer of the
hospital

Download Adda247 APP

Mﬁi following statements rel d 1 i

102, Clause 9 of the Prohibition of Employment as

Manusl Beavengers and their Rehabilitation
Act, 20110 staten that

rhmum-urdlhtwnhhu-n
shall be punished with imprisonment for &
torm which may sxtend to twh yoars of
with fine which may axtand o two lakh
rupnnnritlhhﬂh

of clause
(2) The violator of the provixioas
shall be punizhed with ym prisamme it llﬂ’;
term which may extend 1o two y-mm
with fine which may gxtend Lo two
rupmlnrwi.thhuth

4 jolator of the pruvisions
- &m'hIH“:H ;H[Ilill'l'ld with impﬁml for &

r_*ﬂh




06. Consider the following statoments on Tribal
Sub-Plan (TSP

A. Tribal Sub-Plan came into existence in
1974 - 75.

B. After the merger of Plan and Non-Plan,
the TSP was renamed as Scheduled Tribe
Component (STC) by the Ministry of
Tribal Affairs.

State Governments have to earmark TSP
funds in proportion to ST population
{Census 2011) in the State with respect to
Total State Plan.

In FY 2018 — 19, the monitoring of STC
plan was given to Ministey of |

D.

[

Which of the above statements are co
(1) A,B,Cand D

(2) A, B and D only

(3) A, Cand D only

(4) A, Band C only

06. Match the following :

 Sustainable
Development

T:u_fgﬂt
L

107. Which of the following statements  about

NISAR mre correct 7
ation satellite, jointly

A. It s an Earth-Obsory
developed by the NASA and IBRO,

B, It was envisioned by NASA and ISRO
eight yours ngo in 2014.

(. 1t is expected to be launched in January
2024 from Satish Dhawan Space Centre.

D. It is a High Earth Orbit (HEQ)
observatory and will operate for =n

minimum of ten years.
Chooge the correct ANSWeT :
(1) A and D only
(2) A, Band C only
(3) A, B, Cand D
(4) A and B only

108, Which of the following statements about

 Balhoutuonuo Kruse is/are correct 7
‘A. She was one of the first women o be
plected to the G0-member Nagaland

Assembly.
She was sworn in as the first woman

minister of Nagaland.
She has been allotted

Education.
Choose the correct answer . ‘
(1) B and € onky (2} Aand B only

(3) Aonly (4) A, BandC

The Kerala Shipping and Inland Navigation
Corporation (KSINC) has introduced the first
solar-powered, double-decked, “hybrid boat for
the promotion of tourism in the State in April
2023, What is the name of the boat ?

(1) Sooryodayam {2) Sopryamshu
(3) Soorya Nakshatra (4) Soorya Ratham

A ‘Six-Nation Cycling Expedition 2023 was
carried out by a team of the National Institute
~of Mountaineering and Adventure Sports
(NIMAS) from January to March 2023. Which
of the following countries were part of this
cycling expedition ?
A. Vietnam
€. Cambodia
E. SriLanka
Choose the correct answer :
(1) A, B, C and E only

C. the portfolio of

109.

110,

B. Bangladesh
D. Thailand

g} A,Cand D only
(3) A, C, D and E only
(4) A, B and C only

e ——



1. MMMIMIHMM 114, The United Natians has organised s Hegtornal

m Vieus Dissse (MVD),  oarlior Waor
known as Marburg basmorrhagie fover, is orkehop in March 2025wt Kathmandu,

a sovere, often fatal, haemarrhagie fover, Nopal. What was the theme of the workshop 7
mnltuﬂwwﬂﬂ. (1) Bustainable Tourlem in Asia and the
Tanganian Government the Pacific | Promoting Healthy Prectices
elﬂlhlhufuw MVD i March 2020 fn it (2) Mensuring Tourism - Better duta for better
north-weat Kagera touriem in Asia and the Parific
. Which of the above mm“ inare correct ? (8) Beo Tourism in Asin Pacific : Prometing

(1) Neither A nor B Sustainnble Touriam

(FiR (4] International Tourism : Boosting

@

Aannd B Feonomies of Asin Pacific

118, Match the following countries based on

., Who ameng the following has been olected ag| ~ their ranks in World Happiness Report
i ;['l ad ﬂ th. Hﬂ Development B‘ﬁk i (WHR), 2023 :
I' o |' Country Rank
il A leeland . Rank One
i 'XSB Israel Il. Rank Two
W Finland 1. Rank Three
D, Denmark IV. Rank Four
' V. Rank Five

{ » the correct answer ;
”'fmkm BIv; C-L DAl
AL B CIV: DV
c-1; DIV

118, Mfd SR attiar ko nts aanrding (@ n-‘n': B-111

from . mwlumﬁjwmﬁhm.
D. It willibaio i " tatal of 89 million tons of lithium has been

REE identificd in the world with Australia,
Chile, Amnﬁ.ltl and China as the main

1G-0 vl

Download Adda247 APP



117. Telangana State has bagged 13 out
: ; : R of 46
National Pl.nl:hlyll *mmlﬁmim
year 2021 — 22). Match the following villages

with their eategory of awards ;
Village and District Award Category
A. Gauthampur, L Water Sufficient
Bhadradri - Panchayat
B. Nellutla, Jangaen II. Women-Friendly
~ Panchayat
C. Kongatpally, 1. Healthy
- Mahat Rar Panchayat
D. Aipoor, Suryapet IV, Clean and Green
K Panchayat
K- Miaf, V. Socially Secured, |
el B, Panchayat

debt to Gross State Domestic

Download Adda247 APP

I

121 rding to the National Organ and Tissue

120. Consider the following statements in relation

to the performance of the Singareni Collieries

Campany Limited (SCCL) during 2022 - 23 :

A*lthnlprﬂ-ﬂuﬂidmmlllhmth
previous financial year.

B. It has transported little less than the

previous financial year, due to the internal
usage for its own thermal power station.

C. A majority of coal mines, opencast
underground, achieved 100% targets.

Which of the above statements iw/are correct ?
(1) Conly
(2) A,Band C

. (8) Aand C only
~ (4) A and B only

plant Organisation (NOTTO), the

ing States emerged as the top four in

the number of deceased donor transplants in
2. Arrange them in the descending order :

A Tamil Nadu B. Maharashtra
Choose the correct arder

(1) D B,C. A (2) C,A.B.D
(3)C,D,B A 4) B.C.A.D

. Theysecond meeting., of the Startup20

fngagement Group under India's < G-20
Presidency was held at Gangtok in March
2024, Consider the following statements in
relation to it

A.Mentoring, markel_access and_fnding
areas for

were identified as eritical
startups.

B. The need for a single window platform for
easing access to funds and knowledge

gsharing across G-20 nations was
highlighted.

C. The decision was taken to cstablish a

at Shanghai.
Which of the above statements is/are correct ?
(1) Aand C only ﬁt—ﬂ) A and B only
(3) A,Band C (&) Aonly




1238, Which of the follow

devoloped 0 pockot frisndly g
milly ndultaration in 00 “ﬂﬂﬂﬂ.ﬂ:m b detoet

(1) The Natlonal lnstitute f Dal ,
i hTwhnﬂlnmr I‘I'AH‘JZI:I"I‘I.n rl’..’utllii-lilt:lhi-:ﬂ

0
(2) 1eT Hyderabad

(#) The National Dai
N ngm;l't:nnr:h Inatituts

g rusoareh inntinete | 127,

“Minatirsiuks Kot wrockedd bown murkile stetoes of
Ve il bl lm bineagened Gy Ubike fussles Ay jhumdy
vl plig those hells and sesk Juiaties  Frdmn
the Bultan.” Wi smang the Tillowing = riters
rocordod thie statwment ¥

(1 Malik Cuth-ud-din

(2 Thn Batuta

(4 Iwiimi

i4) Minhaj-us-Hira)

(4) TIT Madros
128, Eithor the throns or the coffin (Te takit, Ys
taklita ) wan n proverh of which oountry *

(1) Arubia {21 Turkistan

i {31 Pornin 141 Hindustan
120, Match the following |
Painters Mughal Rulers
A Mir Sayyid All I Humayun
L Daswant . Akbar
0. Uatad Mansur M1 Jahangir
L. Mir Hashim IV. Shahjahan
(3 1] ; Bl CAIV; DA

The Government of Indis announced seibing )
up of the PM MITRA moga textile parks in
the fallowing States :

Tamil

Download Adda247 APP



. Subandhu
0, Bharavi

iﬂgmnmr
B i oily
4) A only

‘."," ch m 'I.h.' M ”ﬂ' h “
prrectly mutched ? |
Somnath Temple :  Solankis
Kandariye . Chauhans
shadeva Temple _
ihole Temple - Badami Chalukyas
ud D only

{(4) Annd Bonly
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199, Consider the lhllwtuu atatoments rolated to | g4, Mateh  the  following  Modern  ludinn
noous rocks Lannggungon ( Family ) with the Ststes T
; ln-mmm wranular or crystalline. Fdios (Ra) Siale ! UT
m* 0ot have steat-like sodimontary A. ‘Akiatrie I Meghalays
I Dravidian Il Kerala
€. They are less affected by chemical 0 it Mbetan 111, Arsaesbal
D lp‘m- neh do not contain fousils, D, Indo-Europsan IV, Jammu and
Which of the above statements are correct 7 Kanbimir
(A BCandD Choose the correct answer
V (2) Band C only (1) Ay BIT; GO, DAV

(@ A-1vV: B-I; C-1I; DI
4) A-I1; B-I; C-1IL DIV

W\ (2) A-IV; BIL, C-I11; D
TRER
P

ider Zee', o tract of lowland reclaimed from
y of water in the Netherlands is known

(1) Geysers
& {ﬂ] i D,ta-a
(3) Canyons
(4) Polders

144, Gmthfﬂh"ﬂﬂim RaRtA if“"““

Bmwwmmm
from 610 to B850 mm, Minimum and

maximum temperatures during summer
range between 32°C - 38°C.

cann|  C. This zone is predominantly underlain by
o Alluvial soils.

Whigh of the above statements are correct ?
m ﬁ, Hr and C
(2) Band C only

~ (3) Aand C only

@ AwndBonly

141. T

16-0422.
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LY lhrhanu - 18, ﬂln IT exports from
. were worth ® 66,276 orore
0 which almost tripled to ® 1,838,669 crore

© by2021-22,
B. Through the Growth in Diversity policy,
the G-um*mnt provides  special

Download Adda247 APP

148, nmﬂ&ﬂumurm

Iron and

Steel Plant
A. Bhilai : Chhattisgarkf
B, Bokaro { Jharkhand
C. Dolvi Maharashtra
D. Daitari : Odisha
Tdentify the correetly matched pairs :
(1) A,B,Cand D
(2) Band C only
(3) A, B and D only
(4) A and B only

ﬂumi&ar the ﬁuihwl:ng statements  about
"-r.-1r

[:u-hwpﬂllumm
) High Islands

‘ t is found around Mascarene
; qnum!ndimamlduﬂn:mm

scarene High is responsible for
s.equatorial flow through South
jian Sea and it acts as southern

ric linkage.
the abave statements isfare correct 7




